000000000 (00)
0000000000

000 :0000(O000o0o0ooooooooo)*

1 O0O00OoOd

oo »0,00000000000 n0O0000OO00DO.00D0,5=2+24+10000,00
guboodgoodoood,s=2+2+1=2+1+2=1+2+20000, 00000000000
00,00000000000000,000000000.(000000000O0O composition
O00000.)00,0000000000000 A=(2,2,)0500000000000R0.

00 1.1. 000 » 000 (partition) 00, 00000000 A= (A, Ao A) O,
M2z 2 A >0, Y Ai=n

Oo0o0oo0Oooooo.-000 ANOODDOOO,¢d(N)DOOOOO0. 00,

i=1

0,00 A0DO0O0O0O0OO0,(A\NODOOOO.00,n0000000000 2,,00000 p(n)0O
00,000 000 (number of partitions) 00000 .

000,50000, (5), (4,1), (3,2), (3,1,1), (2,2,1), (2,1,1,1), (1,1,1,1,1,1) 0000 70

ooooo. 5DDDDDDD() ,10 50000 (1,1,1,1,1) 000 500000.000
DDDDDDDDD(1,1,1,1,1)D1,(2,2,1)D 921,(2,1,1,1) 0 21300000000000
000000.00001°0 10 5000000000000000000000.00000
00O00,60000000

P = {6,51,42,417 3% 321,31°,2% 221% 21*, 15}
01 000000.
00 1.2.n=23,40000,00000 £,000000.

O00,»n=0000,00000 ¢0(000)0 10000000,p(0)=1000000.00
EEN

p(1)=1, p2)=2, p3)=3, p4)=5 pb)=7 p6)=11,...
O0.0000000000000.

*0 700-8530 DO OO OOOO 3-1-1, masaoishikawa@okayama-u.ac.jp

1



2 gobobobooodn

U0 1.3. 000goon

e} oo
. 1 1 1 1 1
Zp(n)a: _Hl—xi—1—x'1—x2.1—x3'1—x4”'

gooog.

O0.000000o00booo,0boboo?0booboobo0obooobooooobooooboo
gbooo.oodgoobooo

Zp(n)x”:1+:1:+2x2+3:1:3+5x4+7a:5+11:1:6+---
n=0

0000,n000000 plr)0 2" 000000000,00000 (o00)0000000
0000000. 000 p(r) 0000 (mother function) D00 O00. 000000,

1 . . ) .
.:1+ZEZ+ZL‘2Z+JZ3Z+ZL‘4Z+"'
1—a

gboobooboogobob .bbooobbboooobb.bugoobobbog

=
[[—=0reta® o ){tea? + @)P 4
=1

gbooO,g0dbbobooogbbbodgg. o

00 1.4.00 1.30000,n,=7,890000 p(n)0000D0O0ODO.

2 0OOooon

gbo,0ggogboobooaooboo.

00 2.1. (Young 0O) OO0 A= (M, Ne,...,A\)000000000,0100 A,0000,0
200 x0O000,...,0rr00 M\00000,00000000000000000 (Young
diagram) 000 Ferrers Graph 00000 00000000000 (cell), 0000 40
0000000000 0 (ithrow), 0000 ;00000000000 50 (jth column),

DoooDo0o0O000 (Alfred Young)J 1873 0 40 160 —19400 120 15000,00000000000.
uo,0b000boo0oboobobooooobooobooo,oobo0oobooboooon
ubooooooboobogo,bobooooobooog, 18 oooooooon
0000000000 0oo0oo000,(00,00000000000000000
0)0000000 10000000000000000. O000ooOoOoooo
oboboobobO. booobobobobO,0o000b00obobobOooboon
gbO. 1901 0,000000000000C00D000C00O00DOO0DOOOOOO
o,1905 000b000ocoooooooogo. oo, 1902000,00000A0
O0000000000,0000000 (Algebra of Invariants) 00000000
O000Oo.190700,00,000000000 (0O00DOO0OOOO)O0O0O00O
oo0o. 1908 00,000000000,1910000000000 2500000
00000000000 Birdbrook OO0OOOOO0ODOOOOOD.ODOOO
uobooooobooooboobooo,192eb00bo0booooooboon
goooobob.boo, bbb bobboodobboboo,ubo
gooobbbboooonoo.




k000000000 (O0) % 3

0000 ;0000000000000 (4,)) (cell (4,7))D0000000000. 0000
00 (row number), 000000 (column number) DO0000. 00,2 0000000 Y,
000,0000000000,00 AODOOODOO,00 XOODOQOOO. 004, (4,7)€ Y
000 (i,7) eAX00000O00OOODODO.

00000000000.000,XA=64230 1700000. 2000000 Y= Yeues O,
goboobgo,g1oo0e6e000,02004000,03004000,0400 3000
gboooobgo,0obob 4000 600.

XO00OO0OOO0O0OO0OO,020,0400000 (2,4),YO00O000000,030,0 2000
00 (3,2)00000000000000000.

00 22.00 A= (\,\,...,\)0000,Y,000 (0000000000000, 000
000000)0000000000000000000 ADO00 (conjugate) 000, N =
(X,,...,A)00000.000,s0 ADO0ODO.

000,0000 17000 X2=6423000000 Ya=Yepes 000000

0000,00 X¥=43312000000 Y 00000.000,000000 N = (4,4,4,3,1,1)
00oo0ooooo.

00 23.(0) O0A=(),...,A)0000000Y,, (,j)eY, 00 (i,j)0000.0
(i,)0 (0000)000000,(0000)000000 (5,j) 0000000000 Hy(,§)
000,00 (,j) 00000 (hook), J00,0 (5,/)000000000000. 00,0 (hook)
0000000000,0 (4,j) 000000 (hook length) D00, hy(4,j) 00000, 00
00 (i,j)0 2= (i,7) 0000000000, 0000 Hy(z), ha(z) 00000000,




4 gobobobooodn

000,00 A=6423000000 Yees 00 2=(2,2)000000,000000 2z000
00 « 0000000000 (0000 (arm) 00000), 200000 00000000O0O
00000 (leg) 00DDO0O), 0000 00000000000, 00000D0OOOOOOO

Hi(z) = Ha(2,2) = {(2,2),(2,3),(2,4), (3,2), (4,2)}

000000,z=(22)0000000,H,(z) 0000000 hy(z)=hy(2,2)=500.00
00000000000000?00000000,00 A=6423000000 Yepes 0000
000,00000000000000000000.0000000000.

Wl | ©
N || Tt] oo
W]~

00 24.00 AD0O0O0O0D Y,0000, hy(2)=10000000 20,02 (corner) 00
0000000.000,2=(,j)€eY,0000000, (4,j+1),6i+1,j)€Y,00000.

000,000000XA=643000000 Yges 00000
(1,6),(3,4), (4,3)
Doooooooo.
00 25.00 000000 Y,00000,
ha(i, j) =Ni—j+ N —i+1 (2.1)

gooog.

xlalalala
[

l
l

000,00 A=6423000000 Yep; 00 2=(1,2)0000000,000000 \-2=
6-2=4000000,000000 N,—1=4—-1=3000000,000 hepes(1,2) =
4+3+1=800.

O0. 00000 YVY,00 (4,j) 00000000 N—70,00000000 A;—iD,DD
0 (4,j) 000 1000000000000, O

2Dp000o0ooooooo.



k000000000 (O0) % 5

3 UUboubuoubotud

gb,boggboboboooobbob,ogbbbuoooobbbuooobobboooobon
O. 000000000, Alfred Young OOOOOOODOODODOODOOODO,0D00DODOO,
gbboggbouogbbodgboobobuoobbogboobboobbogboo,bogboo
gbbgoboogbobogboooobo,bogoboobbooboobobuoobobooboo
gogboboobbo,goodg,gbbobuodoooobb,bbboooooobboboboooad
goboboooobobod.

00 3.1. (000000) A=A, ,...,A) 0000 n0000,Y,O0000O0O0O000O0O
go.vY,oooooobuoo n00.0000,Y,01,...,n0000,0000 1000000
gooo To

i) 0000000000 ooooo
i) 000000000000 O00OO

00000000000, 70000000 (standard Young tableau), 000,000 (stan-
dard tableau) 000002 00,000000X0,0000000000 (shape) 0000
O.00,00 0D00000000D00D0 A 000,00000NSYT,,ODODODOO.

000,00 64300000000 10000

1(3]7]8([10]16
21419(13
216 1217
11114115

gobooob.boooooboob,1b0 1vbobodgob 1bbboooob,boooa,
gobbobooooobobobooooobobooooobob.bboboa,goobobo,oo
goo0obOOobobooooooobooo? OO0, 0b0b0ob0oboobOoboOo?booOooboOo,0nDo
goboooooobo.

000,00 320000000000 Y 0,00 500000,SYTs=500.

ugd 3.2.00 21000000000000000O00O0000.

00 3.3. (Frame-Robinson-Thrall [1]) A0 n 000 (]\|=n) 000,00 XOOOOOOO

0,000
n!
SYT\O = (3.1)
H:L‘E)\ h)\(.ilj)

3tableau 000000000000 00ODD,00000000000D0000O00O0O. 0000 tableaux 000
gbo.boobooobooobooboobooboboboboobooboobg.



6 gobobobooodn

O000000. 00000 Frame-Robinson*-Thrall 000, 0000000 (hook length
formula) 00000000000O.

000,0000,00 3#200000000,50000000000000.0000000
0000 6 0,000,00 3000000 VYL:O00000000000

4132
1

godododoooood. ooood
n! _6-5-
[Loerha(z)  4-3-

O, 00o0odooboooooooog.

ooooobooobooobooob,boobooobbooobboobobo. ooo, 321
ODe000000,0000000 Yy OOOOooooooo

4~3-2~1_5
3:2.2-1

513 |1
1
goood.ooo,oooooobon
Wl 654321
[Texha(z) 5-3-3-1-1-1
4Gilbert de Beauregard Robinson (1906-1992) 000000000000 1906 0000000000000. O

O00St. Andrew 00000000, 1927r 00000000000 0O0O0O0O. O0O,000000000000R0O
goodo,obooooo,ooooobooobbobotddddu0. gy, oo,
971 o0o0o0ooooo,00b0boboboboobob,0b0o0cbo0oooooooooooboooooOo,bo0o0o
0000000.1938000,000000000000000, 00 Robinson-Schensted 00000000000
ocoooboooooooobogo,oobooooooooobo0ooobO. Doooooobooo0 4000000000,
00,0000000 (The Foundations of Geometry)O (1940 0 ), 00000000 (The Representations of the
Symmetric Groups)d (1961 0 ), 00000000 (Vector Geometry)[J 1962 0000000000 . O0O0O0OOO
oobooooooobooboooooob9yroooooooo. boo,00,000,00,000000000A0O
uoooooob.oobooboooo,0boouobo,00bo0obo0oooobooboOoooooDoOo, 1944000
uoboooooboooboobooooo. oobooboobooboobooooooob,boobooboooOo,ooon
O000HOOOOODODOODOUOOO0OO0OO0O0ODO000000O (Best Kept Secret)D 0000000000 DO0OODOO.
00,00000000 (SIGINT Examination Unit) 000000, 00O0OO
obooOoobooboo,0b0o0o0booboboo,ob0booboobooocboooboon
O00000000,00000 (Most Excellent Order of the British Empire) O
Ooo0oDO0o0. obooOoooooO0oboo0obOoDbOoD, 194500000
00000 (Canadian Mathematical Congress) 0000000, HSM.OOO
O0000000,000000 (Canadian Journal of Mathematics) 00 0O 0O
ooobooooboo. bbooobbooo 149 000b0b0g,000,0n0 30
000,00000000 (Managing Editor) 00OO0O0O0O0O. OOO0O0OOO
1953 000 1957 000,000000 (Canadian Mathematical Society) O O
O (president) 000, 1995 000000000000 00O0O0O0O0O. OOOO
go,0bbobobodooooobo,bobddooobbobobooo,ogooboo
000 (D000)00,000000000,0000000000 (the Society
for the History and Philosophy of Mathematics) O 0 O, 00O NRC (National
Research Council) 0000000000 0OODO 1965000 1971000000
gobobooooboooobooooooooob. boooooboooobooon
godbooooboooobtbooobbooobobuooobbuooobbooobbbooUobL. DbbooOgg 1992
gooobbbboooonoo.




000000000 (O0) ** 7

goboboo.gg,bboog 3210b0b0000bbbuooooboooobn.

1[2]3] [1]2[3] [1]2]4] [1]2]4] [1]2]5] [1]2]5] [1]2[6] [1]2]6]
415 416 315 316 34 316 3[4 315
6] 5] 6] 5] 6] 4] 5] 4]
1[3[4] [1[3[4] [1]3]5] [1[3]5] [1]3]6] [1]3]6] [1]4]5] [1]4]6]
2[5 2]6 214 2]6 214 2[5 216 2[5
6] 9] 6] 4] 9] 4] 3] 3]

O SYTsy=16000,000000000000000000000O.

4 DODOOOOOOO

O000000000,0000000000000000,0000, Greene-Nijenhuis-Wilf [2]
gobbboogobobobuoooobobboood.

00 4.1. 00 NDO000O0O0OODOODOODODO SYT,booo

SYTy =) SYT, (4.1)

I

gobogboo.gbobo,gboobo,ooboo y,oo,obooboobuoo pbhbOOoDO
goo.

000,00 A=6423000000 Yeues 00,

1]

Co

C3

0000 ¢ = (1,6), co=(3,4), c3=(4,3)0 300000000. 00000 ¢, ¢, 3 000
000000,00000 3000 p000000000000000.

00.x0~000000,TesA 0,00 X00000000000,n000,000000
Oo0o00O.0000,00n00000000O0D0DO,00000000 pOODODODOODO T'0O
oooo. 00, joooooo0g pwOOODOOOO0 TOoODOO,00D0OC0DO0OOO0DOD
Oo0,000 n.ODOO0O0OO0OODOODO,00 MNO000D00DOTODOODOD. O

0000000000000000? 000,A=3210000,00 ¢ =(1,3), ¢ = (2,2),
;=(3,1)030000.¢=(1,3)06000000000 70O

216]
4

216]
5

3[16] [1[3]6] [1[4]6]
4 215 2[5
14 13

[cfeol—

|.4>oo>—l

[efoo]—




8 gobobobooodn

gsbboggg.bbobdud g 0boggn

1[2] [1]2] [A1]3] [1]3] [1]4
34] [3[5] [2]4] [2]5] [2]5
Rl e &1 N N k1

0000 p=22100000000000 TMO0OO00O0.00,0¢=(1,3)06000000
O0000,00 TO0O0O00O0.000,=(22)06000000000TO

1[2[3] [1]2]4] [1]2]5] [1]3]4] [1]3]5] [1]4]5

416 316 316 2]6 216 2]6

5] 5] 4] 5] 4] 3]
0 6000000.0000,¢,=(2,200000000

1[2[3] [1]2[4] [1]2]5] [1]3T4] [1]3]5] [1]4]5

4] 3 3 2] 2] 2]

5] 5] 4] 5] 4] 3]

0000 p=31200000000000 TMO0OOO0OO0.00,0¢=(22)06000000
0000,00 TOOODOO.000,e3=(3,1))0 6000000000 TO

23]
5

4] 215] 314] 315

1 1 1
34 215 214
6] 6] 6]

2
)

[o]i]—

|CDC»D>—\

Os000000.00000 egs000ggn

1[2]3] [1]2]4] [1]2]5]

2 314] [1]3]5]
4[5 315 314

5 214

DNO|—

0000 x=3200000000000 7"O00000. 00,0 ¢=(3,1)0 6000000
ooobD,00 7ogoog.

00000,0 ¢,0, 00000000000 p=2%,31%23200000000000000
00,00 A=321000000000000000

SYT321 == SYT221 —|— SYT312 —I— SYT32 = 5 + 6 ‘I— 5 = ].6

000000,00410 (41)00000000. 00000, 4.1)0000000O0000O0
ooooooooooooo,3)ooodo,00 y)yooooooooooooo,ooo
000000oooo. 000, (3.1)0o0oo,0boooooooooooooo.

00 4.2. X0 nO0Q0Qooog,
n!

[Ley ha(z)
000000. A=00000,FK =1000000.00,0 2=(0,8)0 A00000,A0
0,0 2000000000000000 ¢000,F, 0 F(e,f)000000000.

F\ =

000,000
Fy = Z Fy(a, B) (4.2)
(

o,3)



000000000 (O0) ** 9

O000000.000,00000,0000000,00000Y,00 (o,)000000
O00.00,000000000,2 =00 A=10000,0000000000000,000
000000000, (42)00000 FA,OODOO

FA(aaﬂ)
| = 4.3
> Ble 13
(@)
000000000. 000 10,0000000000000,000 43)00000000
oooooogoon.

5 Uogooond

O0000,43)00,000000000000000000O00OOODOAO.

00 5.1.(00) A0 n0000000.000000000000.00000000,00
000 Y,O0 1000 (4,5,)0000000000000.000,Y,00000000 1/n
000000000, (n=|A). 00, (i,71) 00000000000000, (4,5:) 0000
(iz,j.) 000000D0000000. 0000,00000000000 1/(ha(ir,51)—1)00.
000,0 (is,4o) 000000000000 (4,4o0) 00000,000000000000.0
000,00000000000 1/(h(i,jo)—1)00. 00000,Y,0000000000
000,000000000000000000.0000000,0000000000000
0000.0000,0 (,8) 00000000 pa(e,8) 000000.

000, A=3210000, ps(1,3) 000000000.

z

r=(1,3)0000000000,000000 (1,1), (1,2), (1,3)0000,000000 1O
0D0000. 00,000 (1,1)000,200000 (1,2)0 (1,3) 002000000000
0,00 (1,2) 00000000 1000000,00000000.00,(1,2)000000,
(1,3)0 (2,2) 000000000000 (1,3) 00000000 100.0000000 (1,3)

goboog,0obbbugobbboogob.bboooon

(1? 2) - (17 3)
(1,1)
(1,3)
Start (1, 2) (17 3)
(1,3)
000,0000000000000
(1$_1 L1111 111 5
Pa2ltd) = e 1 9T 16 276 16

00000. 000, psw(2,2) 0000000




10 gobobobooodn

gbooobog,bobogon

ogooo
(o=t 1.1, -
D321 4, “6' 122" 6 5

ggooo.
0ogd 5.2.DDDDDDDDDnggl(S,l)DDDDDDDD.

0000,0p\e,)000070000000000000,000,00000000000
0000000000000. 000,0000000,000000000,00000000
ooOo0ooO00oO0Oooooooo.

00 5.3.A0 000000, (0,8)0 Y,000O0ODOO.0000,

F)\(Oé,ﬁ)

pA(OQB) = F)\

(5.1)

gboooogo.

00, ((G.1)0000000, 43)000000000000000OO0.0000,00 510
O000,00000000000000000,0000 (o,/)0000000DO0O0OOOODOOO
O,100000000000000000. 0O0D,00 53000000, Frame-Robinson-
Thral OO0 OOO0O0OOO0O0OO0OOOOOODOO. OD,00,0000000,00 530000
ooobodgogd.

00. (a,8)0000000,0 ¢=(,f) 000000000000 0000, h(i,j) 0, ¢
0000000 (i,8),1<i<q, 00 ¢000000 (0,5),1<j <00 hyu(i,5) = ha(i,5)—1,
000000, h(i,j) =ha(i,j) 000, (5.1) 000000000000000000000C
ooooooo.

x| | |

goooo

Fmﬁ):;ﬁ BH ha(or)
F no h( —1 hx(a, j) —

=%E(”W>ﬁ(“m>

7j=1
O00000. 0000, h(e,f)=1000000000000.000,0000000000,
gooddgoooooobobboo. o



HEODODOOOOODDO (OO) 11

00 5.4.(000000) AOOODOO,0000000000 (4,B)000000000
0.0000 A={ay,...,ax}, B={b,....5} 0000

1§a1<a2<~~-<ak, 1<b<by<--- <Y

O000000. 000 kI>1000000000.000,0 (a,0) 000 AXOOOOOO
Y, O0OOOOOOOoOo.0oooo,00 (e,b) 00000,0000000 (aq,00) 00000
000000000000 00ooDooOoo0O0o0O00OUO0,0o000 (a,b6)0000000OO
g, gbbbbbduoodoobbbbuouoooobbb,bboug,oubobbbboooad
0 A0,0000000 BOOOOOOOOO E,pO000000000.O00000C00,00
goboboo

(a1,b1) = (i1, j1) = (@2, J2) = -+ = (im, Jm) = (ax, br)
ooogoon
{ir,...;im}=A4  {j,....Jjm} =B
0oo0oo0oooo0.o0o0,000 (am,) 000000000000 E4p0000000O

Px (A7 B ’ ay, bl)

O000000000.000,000 (aq,) 0000000000 0O0OC0OOCOOOODODODOO,O
000000 1/n000000000000OO0OOO.

000,00 A=6423000000 Yees 0000 A={1,3}, B={1,2,41 0000
c1 = (1, J1) = c2 = (l2, J2) = 3 = (i3, 3) = 1 = (ia, Ja)

oooooo,
{i17i27i37i4}:A {j17j27j37j4}:B
ogoooono,0d 3goooooouooog.

cileo| Jes| || c1lco [ | C1 [ |

Cy C3| |C4 C2|C3| [Ca

gdodo,0booooooooooooooad
(AB|11)— + + L =
Pea23 (A, y 1) = 13"
goooog.

0000,00000A=321,A={2},B={1,2)00000000.00000,000 (2,1)
0000 (2,2)0000,0000000

Start — (2,1) —(2,2)

gbgobobooboo.bob,0bo0booboobo

Py ({21, {1,2}]2,1) = %



12 gobobobooodn

00. 000 (2,1)0000000000000000000,0000000 1000000
0000000000.00,4={1,2},B={1,2}000000000,000 (1,1)0000
(2,2)0,A={1,2},B={1,21 000000,0000000

- (1’ 2) - (2a 2)
Start — (1,1) —
(2,1) —=(2,2)

gbobo,000bbbodooobbobooogbn

e~ =
N | —
>~ =

+

1 1
31 ({1,2},{1,2}|1,1) = T3

gooog.

00 5.5. 0000000
1
psn ({1,2},{2}]1,2) = 3 Db ({2}, {2}12,2) =1

gboooooao.

OO s6. NUDDODODO, 0000000000

(A,B) = ({al, e ,ak}, {bl, e ,bl})

00000, (b)) 0 Y,00O0OOOOOOO. OOOO

k—1 -1
1 1
A B by) = I I I I 2
p)\( ’ |a’17 1) o hA(CLZ‘,bl) 1 o h}\(ak’ b]) 1 (5 )

goooboodg.obb,ogob1o004aooboo.

00. 000, (a,b) 000,000000,00 (ay,b,) 0,000, (ap,b) 000000000
0000,0000 ————— 00000o0gog. 00, (a,be) 0000000, 0000
h)\(al,bl)—l

0,006, 000000000000, (a,b)000000,00000 (A, {by,....0}) 000
000000000, 00, (a,by) OO0ODD0O0O0OD,00000,00 q 0000000000
00, (ae,b;) D0OD00ODO, 00000 ({ag,...,a,},B) 00000000000 O0OCOOOOO
O.0oon

L A b b L
Ww( , B\ {b1}|as, 2)+Wm(

= W{Px (A, B\ {b1}|a1,bs) + px (A\ {ar}, Bas, b1)} (5.3)

P (AvB|a/17b1) == A\{al}aB|a2abl)

00000000000, 000, B\{h}OOO BOO b, OOO0OO0O {by....5} 0000
0. A\ {a:} O {as,...,a,} DO00DO0DO0. 000,0000, B\ {b} =00 A\ {a} =010
noo,

pr (A,0]ar,bs) = px (0, B|ag,by) =0

00000000000000000. 000,00 (5.3)00000,(5.2)00 |A|+|B|/0O0
0000000000000000. 000|400 ADDOOOOO.



kOO OO0D0O0O0O0O0 (o) *ex 13

(i) |A|+|B|=20000,|A4,|B|>1000 A={a}, B={h}0,00000,(2)000
00000000 10,00000 (a,b) 000000,000000 1000,000000

i)n>3000,|A|+|Bl=n—-100,(5.2) 0000000000, (5.3) 000

1 k—1 1 -1 1
A,Blay, b)) =
px( a1, b1) ha(ag,by) — 1 {g ha(a;, b)) — 1 JI:[Z ha(ak, bj) —
k-1 -1
1 1
+
g ha(ai, by) — 1 J[[l halax, bj) — 1}

_ h)\<a1,bl) -1+ h)\(ak,bl) —1 ) kl—[l 1 ﬁ 1
ha(ai, b1) — 1 iy Palas b) =1 25 ha(ag, 7) =1

00000. 000,00 250 (21) 000 hy(ab) = Xy + N, — a1 — b+ 1, hy(ag, by) =
)\ak +)\§71 — ap — b1 + 1, h,\(al,bl) = >\a1 +)\§?1 —a; — bl + 1, h,\(ak,bl) = )\ak +)\§71 — ap — bl +1 O
0o

ha(ay, b)) + ha(ag, by) = hx(ar, by) + ha(ax, by)
000, (a,b) 00000, hy(ap,by) =1 000000000

1 1
pa (A, Blayby) =[] ha(ai, b)) — 1 jl_[l ha(ag,j) — 1

0000.000,(5.2)00, |A|+|B|=n 0000000000
(i), (i) 00, (5.2) 00,000 (4,B)0000000000. O
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